



नाम: \_\_\_\_\_

दिनांक: \_\_\_\_\_ स्कोर: \_\_\_\_\_

$$\left(\frac{2}{3} - \frac{3}{2}\right)^2 + \frac{1}{5}\left(\frac{1}{6} - \frac{3}{4}\right) =$$

$$\left(\frac{1}{5} - \frac{1}{3}\right)^2 - \frac{1}{2}\left(\frac{1}{3} - \frac{3}{4}\right) =$$

$$\left(5 - \frac{1}{5}\right)^2 + \frac{1}{2} + \frac{1}{2} \times 3^2 =$$

$$\left(\frac{3}{4} - \frac{2}{5}\right)^2 + \frac{3}{5}\left(\frac{1}{2} - \left(\frac{2}{5}\right)^2\right) =$$

$$\left(\frac{1}{2} + \frac{1}{6}\right)^2 + \frac{1}{3}\left(\frac{2}{5} - \frac{3}{5}\right) =$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{2}\right) \times \frac{2}{3} - \left(\frac{1}{4} + \frac{3}{4}\right)^2 =$$

$$\left(\frac{1}{5} + \frac{1}{5}\right)^2 - \frac{2}{3}\left(\frac{3}{2} - \frac{1}{2}\right) =$$

$$\left(\frac{1}{2} + \frac{1}{3}\right)^2 - \frac{1}{2}\left(\frac{3}{2} - \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\frac{3}{4} - \frac{3}{4}\right)^2 + \frac{2}{5}\left(\frac{3}{5} + \frac{1}{3}\right) =$$

$$\left(\frac{1}{4} - \left(\frac{1}{3}\right)^2\right) \times \frac{1}{3} + \left(\frac{2}{3} + \frac{3}{4}\right)^2 =$$



नाम: \_\_\_\_\_

दिनांक: \_\_\_\_\_ स्कोर: \_\_\_\_\_

$$\left(\frac{2}{3} - \frac{3}{2}\right)^2 + \frac{1}{5}\left(\frac{1}{6} - \frac{3}{4}\right) = \frac{26}{45}$$

$$\left(\frac{1}{5} - \frac{1}{3}\right)^2 - \frac{1}{2}\left(\frac{1}{3} - \frac{3}{4}\right) = \frac{407}{1800}$$

$$\left(5 - \frac{1}{5}\right)^2 + \frac{1}{2} + \frac{1}{2} \times 3^2 = \frac{701}{25} = 28\frac{1}{25}$$

$$\left(\frac{3}{4} - \frac{2}{5}\right)^2 + \frac{3}{5}\left(\frac{1}{2} - \left(\frac{2}{5}\right)^2\right) = \frac{653}{2000}$$

$$\left(\frac{1}{2} + \frac{1}{6}\right)^2 + \frac{1}{3}\left(\frac{2}{5} - \frac{3}{5}\right) = \frac{17}{45}$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{2}\right) \times \frac{2}{3} - \left(\frac{1}{4} + \frac{3}{4}\right)^2 = \left(-\frac{1}{2}\right)$$

$$\left(\frac{1}{5} + \frac{1}{5}\right)^2 - \frac{2}{3}\left(\frac{3}{2} - \frac{1}{2}\right) = \left(-\frac{38}{75}\right)$$

$$\left(\frac{1}{2} + \frac{1}{3}\right)^2 - \frac{1}{2}\left(\frac{3}{2} - \left(\frac{1}{2}\right)^2\right) = \frac{5}{72}$$

$$\left(\frac{3}{4} - \frac{3}{4}\right)^2 + \frac{2}{5}\left(\frac{3}{5} + \frac{1}{3}\right) = \frac{28}{75}$$

$$\left(\frac{1}{4} - \left(\frac{1}{3}\right)^2\right) \times \frac{1}{3} + \left(\frac{2}{3} + \frac{3}{4}\right)^2 = \frac{887}{432} = 2\frac{23}{432}$$